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QUESTION 1

Click the Exhibit button.

[edit]

userffhcstég show protocols isis
lewel 2 disable;

interface ge-=0/0/1.0;
interface ge-0/0/2.0;
lnterzace ge=0/0/3,0;7
interface lol.0;

[ediz]
userfhoacg

Referring to the exhibit, which two statement are true? (Choose two.)
A. The device will not form adjacencies with devices in a different area;
B. The Level 2 database will be empty.

C. The IS-IS protocol is disabled on the device.

D. The device will not have a Level 2 database.

Correct Answer: AB

QUESTION 2

Click the Exhibit button.
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userfhost> show route hidden

iner.0: 40472 destinacionsa, 583201 routes (43201 active,
+ = Active Rouce, - = Last Actiwve; * = Both
0.0.0.0/0 [Aggregate] 06:55:56

Discard

1 holddown,

1 hidden)

Referring to the exhibit, why is the 0.0.0.0/0 route hidden?
A. The next hop is set to discard.

B. You already have an active BGP default route.

C. You cannot make a 0.0.0.0/0 generated route.

D. There are no contributing routes.
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Correct Answer: D

QUESTION 3

Click the Exhibit button.

{master:0]) [edit]
userfhosc$ show vians
data |
vlan=-id 34:
forwarding-opcions |
dhcp-securicy |
arp—-inspection;
group data |
overrides |
trustad:
]
interface xe-0/2/3.0;

Referring to the exhibit, a packet tagged with vlan-id 34 arrives on interface xe-0/2/3.0 with a source MAC
that does not match an entry in the DHCP snooping database.

In this scenario, which statement is correct?

A. The source MAC is added to the DHCP snooping database.

B. An error message is logged and the packet is forwarded.

C. The destination MAC added to the DHCP snooping database.

D. The packet is forwarded and no error message is logged.

Correct Answer: A

QUESTION 4

Which mechanism is used to share routes between routing tables?
A. filter-based forwarding

B. forwarding instances

C. RIB groups

D. routing instances
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Correct Answer: C

A RIB group is a way to have a routing protocol, in most cases, place information in multiple route tables.

QUESTION 5

You received an alert from your monitoring system that the master Routing Engine (RE) on an EX4300 switch in a
virtual chassis has hardware issues and might need to be replaced. Because the switch already had graceful Routing
Engine switchover (GRES) enabled and configured, you must perform a manual switchover to the backup CK to avoid
disruption. Which command would be used to perform the manual CK switchover?

A. Log in to the backup CK and issue the request chassis-control operation command.

B. Log in to the backup CK and issue the request chassis routing-engine master switch operation command.

C. Log in to the backup CK and issue the request chassis routing-engine master acquire operation command.

D. Log in to the backup CK and issue the request iccp-service operation command.

Correct Answer: B
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